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1. Trapslate the expression (atb+c)*d-e/(f/g-h)*i into postfix form by stack approach. You must show the
stack stafus step by step (10%)

( ) + - * [/ % eos
isp 0 19 12 12 13 13 13 ¢
icp 20 19 12 12 13 13 13 0

Token Stack Top | Output

2. The following are the functions for inverting Single Linked Lists and Concatenating two linked lists.
Please complete the parts indicated by XXX. (10%)

typedef struct list node *list_pointer;
typedef struct list node {
char data;
. list_pointer link;
i

list_pointer invert(list_pointer lead)
{
list_pointer middle, trail;
middle =NULL;
while (lead) {
trail = middle;
XXX 1;
lead = lead->link;
XXX 2y
}
return XXX 3;
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}

list pointer concatenate(list pointer ptrl, list pointer ptr2)
{
list_pointer temp;
if IS_EMPTY(ptrl)) return ptr2;
else {
if ((IS_EMPTY(ptr2)) {
for (temp=ptr];temp->link;temp=temp->link);
XXX 4;
b
refurn XXX _5;
}
}

3. Complete the parts indicated by XXX of the Doubly Linked Lists insert function. (10%)

typedef struct node *node_pointer;

typedef struct node {
node_pointer llink;
element item;
node_pointer rlink;
}
void dinsert{node pointer node, node_pointer newnode)
{
XXX _1=node;

XXX _2 =node->1link;
XXX 3 =newnode;
XXX_4 =newnode;
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4. Complete the parts indicated by XXX for the function for inserting a newnode into the front of Circular
Linked Lists and caculating the length of linked list . (10%)

void insert_front (list pointer *ptr, list pointer node)
{
if IS EMPTY(*ptr)) {
*ptr=node;
node->link = node;

}

else {
XXX 1;
XXX 2;

int length(list pointer ptr)
{ .
list pointer temp;
int count = 0;
if (ptr) {
temp = ptr;
do {
XXX 3;
XXX 4;
} while (temp!=ptr);
}

return count;

5. Please complete the Max Heap Sort algorithm parts indicated by XXX (20%)

typedef struct threaded_tree *threaded_pointer;
typedef struct threaded_tree {

short int left thread;

threaded_pointer left_child;

char data;
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threaded_pointer right_child;
short int right _thread;

&

threaded_pointer insucc(threaded_pointer tree)
{
threaded_pointer temp;
temp = tree->right_child;
if ({tree->right_thread)
while (ltemp->left_thread)
temp = temp->left_child;

return temp;

Right Insertion in Threaded BTs

void insert_right(threaded pointer parent, threaded_pointer child)
{
threaded_pointer temp;
XXXX 1;
XXXX 2;
XXXX 3;
XXXX 4;
XXXX 5;
XXXX 6;
- I XXXX 73) {
temp = insucc(child);
XXXX 8;
}
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6. Please write down the every sequence of finding biconnected component of a connected undirected graph

by depth first spanning tree. (20%)
o ®

o 7
@) GHS

7. Please find the Minimum Cost Spanning Tree algorithms using Kruskal, Prim and Sollin. (20%)






